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Lesson 10

Sixteenth Note Pattern
(--E&A)

Tn lesson 7 we created a rhythm by removing the note called "E" from a block of four sixteenth notes. In lesson
8 we removed the note called "A", and in lesson 9, the note called "&". In this lesson you will learn a new rhythm
by removing the note called "1". Recall that a group of four sixteenth notes gets one beat, and is counted 1E&A.
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This thythm, shown below, is created by replacing the downbeat (the 1,2, 3, or 4) with a sixteenth note rest. The
downbeat will be counted, but not played.
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Now try the following exercise to get a feel for this new rhythm.
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Lesson 10 Exercises
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Lesson 11

Sixteenth Note Pattern
(- - & A)

In previous lessons, we began with a block of four sixteenth notes, then replaced one of the notes with a sixteenth .
rest o create a new rhythm. In this lesson, we will replace two notes (the"1" and the "E") with rests to form a
new rhythm. Recall that sixteenth notes are counted 1 E & A.
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The rhythm that is created when the first two notes are removed can be written several ways. As shown below,
two sixteenth note rests can be used to replace the notes, which means that the "1" and the "E" will be counted,
but not played. :
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Most often, an eighth note rest, rather than two sixteenth note rests, is used to replace the removed notes, as shown
below. The "1" and the "E" will be counted, but not played.
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Now try the following exercise to get a fee! for this new rhythm,
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Lesson 11 Exercises

1

==

1E&A &A 3E&A &A 1E&A 2E&A3 &A4 &A 1E&A &A BE&A &A 1E&A 2E&A 3 4

2

o — — = e = o s =
1 & &A3 & A 1 & 2 & &A &A1 & &A3 & &A 1 & 2E&A3
3

= A = e

i
N

&A 1 & 2 & 3E&A4 & 1

e

I

i

i

IE&A2 &  &A4 &A 2E&A 3 4

—— = ——

e
N — T —

&A 1 2E&A 3 & 4

IE&A  &A3 &

o e e = N

&A &A3 & 4 & 1 & 2E&A &A4 &A  &A3E&A 4E&A 1 & &A3 & 4 &

=)

Je

B

j = ——

&A4

=
Y
&A

&A

&A3

e




T L T T S W

; RE= =
1 &A4 &A3 & 4BE&A 1 &A3 1E&A &A3
B8 = R T 3
’ -
&A2 &A4 &A &A3 & IE&A &A3 & &A 1 &A4
=N & N = = =—Ah
1 & & 3 &4 & & & &A 4 &A2 & & & 1E&A & & 4
3 \ = P :
1 & &A & &A 1 & & 4 1 &A & & &A2 & 3 4
10
== _rr === ~_pre =

iiiitiii:-#:

1 & &A3 & 4E&A &AZ &A3 & 4 &A 1

2 &A &A4 &A 1E&A 2 &A3 &

—— - = - | - = o e ut

: B
| |

_&A2 &A 3E&A4 & &A2 &A &A4 1 &A 2E&A3 &A4 &  &A &A 3 4

— ——f— e T - —f—

~sas " sssew e

1E& &A 3E&  &A 1 & 2E&A 3E&  &A 1 & 2 & 3E& 4EX &A2E& 3E& 4

= — om0 e A e S W B S T 5 OO B e =

P e e e N N e

&A 2E& &A 4E&

&A 2E& 3E&A 4 &

1E& &A3E&

&A

1IE&

&A3



12 - | -
—F=—FF o = e e e O B R

1E A &A3E A &A 1 & 2E&ZA3E A &A 1EXA2E A3E&A4 & = &A2E A3 & 4

e e N B F—Bfrarr—fr=—N
Mﬂtﬁ%ﬂ: T :

&A2E A &A4E A 1 2E A &A4 & &A &A3E A4 & 1E A &A3 4

i

13

——— = ! e
1E&A E&A &A4 1 & E&%A3 &  &A 1 E&A3 & E&A  &A &A ERA4 &
— o e - e s B e B B

o

!-L

e e B PPt N e S i S o A e -
W Sy a8 —aes—a

1 &A 2E& &A4EEA 1 & & 3E A4 &A 1E A2 &A &A4 & &A2E& 3E A4

-

!
y

e e S e R I i B i e e B 0 N

IE& 2 &A &A4E& 1 &A2E A3 & &A 1 E&A &A4E&A 1 & 2E A3 & &

|

—Fr N NN === B
R ——— [ —

1E A & &A 4E& - &A4 &A & &A 3E& & 3E A4

e R e i i

E&A2 & &A 1 &A &A 4E& 1 &A3IE A &A1 & .. E&A3 &

Il
I
m-m



Lesson 12

Sixteenth Note Pattern
(1----A)

In lesson 11, we removed the first two notes from a block of four sixteenth notes to create a new rhythm. In this
lesson, we wﬂl remove the two middle notes from the block Recall that sixteenth notes are counted 1E&A.

* The thythm that is created when the first two notes are removed can be written several ways. As shown below,
two sixteenth note rests can be used to replace the notes, which means that the "E" and the "&" will be counted,
but not played. _
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This thythm is most often written in pattern form. When written as a pattern, a dotted eighth note is tied to a
sixteenth note. Because the eighth note is dotted, it now takes up 3/4 of the beat (rather than 1/2 of the beat).
The "E" and the "&" will be counted, but not played.
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Now try the following exercise to get a feel for this new rhythm.
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